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800m
1000m
2000m
3000m
5000m

THIC 0.4 kmithii (A) =74 =v+a (G)
T 05 kmithsi (B) =74 =v v 2 (G)
T LOkmiteri (C) =74 =v =2 (G)
TR 1.0 kmier (C) —2s-Migi (G) —0.5kndMisy (B) -7 4=y 2 (G)
THIC 1.25 kmMisf (W) —a2- st (G) —1.25 kmdthsd (W) »7 4 = v v 2 (G)

EE MO 4z9va%
A=+ 30 DRBCICRKERTL TRZMEK T LTS W,
KHUCI > TREART L v BB L, BFERIGEIC 15 SRTICIIEABHCL 3,
7429yl EFRIR W TEIR D K230,

2T

L&

&

- —y
". 1 \ -\ = '._. %
2 P D\ TaX (PLaoN
= — ’? \ | A
o l"-._\\ )

; f;. N @ j - /(’/"K -,.. 1 A 3
ARAEEE A\

. \ \ \ . : - W |
T \iﬁa L FEE A= » e
2% oy o

ELRAREEN o QRzeNm
Poamize o) 2R

ATy

| o N =
23"\ W 1

>
i

3\

=T

=N o

-

L%

z (:". 1]':1’_ 'r"
43\ = " — 2

7800 B b 1/F A

At L i 100m
g Cmma
S G’:‘\ I \ \\j ,



